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10.

Answer ALL questions.

PART A — (10 x 2 = 20 marks)
What are the desirable properties of Intermediate representation?

Build a DFA to recognize identifiers, unsigned integers and unsigned real
numbers with fractions.

List the problems of single pass assembler.
Differentiate macros from subroutines.
What are self relocating programs?

How are loops optimized?

‘What are counting semaphores?

What is mutual exclusion?

What is thrashing?

‘What is internal and external fragmentation?
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PART B — (5 x 16 = 80 marks)

Discuss in detail the various ways by which the symbol table could be
organized. Comment on which symbol table organization would b
efficient if symbol table entries are deleted.

Or

Compare and contrast recursive descent parsing with LL(1) parsing
‘Which form of grammars are acceptable to each of these?

Discuss the design of a two pass assembler. Comment on the relativ
merits and demerits of one pass and two pass assemblers.

Or

Discuss the design of one pass macroprocessor. Mention the format of th
data structures used by one pass macroprocessor. The design should b
able to handle nested macros.

()  Discuss the various code optimization techniques used by compilers

(8
(i) Esxplain memory allocation strategies used for block structure
languages. (€

Or
() How is the design of interpreters different from that of compilers
What are pure and impure interpreters? (€

i) Discuss the design of linkers with algorithms. The linker shoul
handle relocation and linking of overlay structured program:
Mention the data structures required for the design of the linkes

(1

With a neat Gantt chart generate a schedule for the given processe
using HRRN, SJF, SRT and round robin scheduling (quantum = 3) (1€

Process Number P1 P2 P3 P4 P5

Burst time 20 10 25 156 5
" Arrival time 0 3 5 15 5
Or
@ Discuss Banker’s algorithm with an example. [¢

i) Discuss a solution for the five philosopher problem usin
semaphores. [¢
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Compare the following page replacement policies on the basis of 0S

overheads 6)
. FIFO
« LRU

. Optimal page replacement

Construct a page reference string such that LRU replacement will
produce more page faults than optimal page replacement policy.
Make your assumptions on number of page blocks. (5)

An Operating System uses the LRU page replacement policy as
follows : 5)

. The page size is made half of the original page size

. The total memory is maintained as it is in the original LRU
policy

. All other aspects remain unchanged.

Compare the performance of the meodified policy with the original

policy.

Or

() Discuss with examples the various disk scheduling algorithms. (16)




